& 2o A PA = PB = 6cm
PD = 9cm ,4DPB:90°%JEH,
PC2] doj=

@ 2cm @)4 cm ® 6cm @ 8cm ® 10cm

PA-PB=PC-PD°JE26-6=PC-9
~PC=4cm
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PG x PD = PE x PFo|B.&
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@3(:111 @ 4cm ® 5cm @ 6cm ® 7em

B

OT = V3, /PTB = 90°
BP = /(2V3)2+22=4

AB=x2t 3, 22 = (4-x) x4
Lx=3
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(1)8% = 2(2 + 2x),64 = 4 + 4x
4x = 60

SLx=15

(2)x% = 2 x 16,22 = 32
Lx=4V2(0 x> 0)
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o] Mo|11 PA =3, AB =6 0,
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PT° =PAxPB=3x9=27

~PT =33

E35 PT° = PAxPB = PT o2&
PT =PT =33

wetAl, BT 4 PT = 63 oltk.




@ 4cm @ 4.2cm ® 4.5cm
@4.8cm ® 5cm

~&B

DE = xcm 2 51'H EF = (8 - x)cm
AE -BE = (154 x)(8 - x) = x(18 — x)
120 — 7Tx — x2 = 18x — x2 , 25x = 120

x =4.8(cm)
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/x = (/PDB = /DBC - /DPB
:860—710 = 150
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@® 30° @ 35° ® 40° @ 55° 3)60°

B

BT 7} Al A A, P, T & Av= 99 HAo|EE (ATB =
(APT = 45°

APTB ] A7y o] Al Z+e] 2719 3 £x + 45° 4 30° + 45° =
180° . zx = 60°




